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QUESTION 1

-- Exhibit

@

User IP: 168.210.232.5
External Interface:
195.56.67.66/26

F5 Self IP: 195.56.67.89/26 Virtual Server: WEBSERVICESL Firewall

VLAN: External IP: 195.56.67.90/26
Port: 443

SSL Offloading Enabled Internal Interface:
10.240.242.1/23

F5 Self |P:10.240.242.100/23
VLAN: Internal

Local Traffic Manager

External Vlan tcpdump

22:28:27.689421 |P 168.210.232.5.27820 > 195.56.67.90.https: 5 4159851702:4159851702(0) win 8192 <mss 1450,n0p,nop,sackOK>
22:28:27.689433 IP 195.56.67.90.https > 168.210.232.5.27820: 5 876741540:876741540(0) ack 4159851703 win 4350 <mss 1460,sackOK eol>
22:28:27.919524 IP 168.210.232.5.27820 > 195.56.67.90.https: . ack 1 win 1450

22:28:27.921141 P 168.210.232.5.27820 > 195.56.67.90.https: P 1:104(103) ack 1 win 65250

22:28:27.922822 IP 195.56.67.90.https > 168.210.232.5.27820: P 1:506(505) ack 104 win 4453

22:28:27.922839 IP 195.56.67.90.https > 168.210.232.5.27820: F 506:506(0) ack 104 win 4453

—

Node: W51 Node:WS2
1P:10,240.243.187/24 1P:10.240.242,189/23
DG:10.240.242.100 DG:10.240.242.100

Internal Vlan tcpdump

2:35:17.858896 |P 168.210.232.5.27820 > 10.40,242.189.http: 5 3302554564:3302554564(0) win 4380 <mss 1460,nop,wscale 0,sackOK, eol>
22:35:17.8627069 |P 10.40,242.189 http > 168.210.232,5.27820: 5 4222909244:4222909244(0) ack 3302554565 win 65535 <mss 1310,nop, wscale
0,nop,nop,sackOK>

22:35:17.862786 IP 168.210,232,5.27820 > 10.40.242.189.http: , ack 1 win 4380

22:35:36.636255 P 168.210.232.5.33202 > 10.240.243.187. http: S 2389057240:2389057240(0) win 4380 <mss 1460,nop,wsca e 0,5ackOK,eol>

Pool Name: WebServicesl
Notes: Service: port 80
LB Method: Least corns (member)

-- Exhibit -Refer to the exhibit.

An LTM Specialist has a virtual server set up on the LTM device as per the exhibit. The LTM Specialist receives reports
of intermittent issues. Some clients are connecting fine while others are failing to connect.

The LTM Specialist does a tcpdump on the relevant interfaces, with the following results extracted:
What is causing the intermittent issues?

A. The firewall is dropping the packets from WS1.

B. The default gateway is inaccessible from WS1.

C. The load balancing (LB) method is inappropriate.

D. The pool members have been set up as an active/standby pair, with WS1 as the standby.

Correct Answer: B

QUESTION 2
An LTM Specialist notices the following error on the stdout console:
mcpd[2395]: 01070608:0: License is not operational(expired or digital signature does not match contents)

Which command should be executed to verify the LTM device license?
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A. bigpipe version
B. tmsh show /sys license
C. tmsh /util bigpipe version

D. tmsh show /sys license status

Correct Answer: B

QUESTION 3

Which procedure should an LTM Specialist follow to move a configuration from a 1500 to a 1600 hardware platform
during an upgrade?

A. tmsh save sys config file filename.scf copy the file from the /var/local/scf directory from one device to the other tmsh
load sys config file filename.scf

B. tmsh save sys backup file filename.scf copy the file from the /var/local/scf directory from one device to the other tmsh
load sys backup file filename.scf

C. tmsh save sys backup file filename.scf copy the file from the /var/local/ucs directory from one device to the other
tmsh load sys backup file filename.scf

D. tmsh save sys config file filename.scf copy the file from the /var/local/ucs directory from one device to the other tmsh

load sys config file filename.scf

Correct Answer: A

QUESTION 4

An LTM Specialist has a OneConnect profile and HTTP profile configured on a virtual server to load balance an HTTP
application.

The following HTTP headers are seen in a network trace when a client connects to the virtual server:

Clientside: GET / HTTP/1.1 Host: 192.168.136.100 User-Agent: Mozilla/5.0 Accept:
text/html,application/xhtml+xml,application/xml;q=0.9,*/*;q=0.8 Accept-EncodinG. gzip, deflate Connection: keep-alive

Serverside: HTTP/1.1 200 OK DatE. 5 Jun 1989 17:06:55 GMT Server: Apache/2.2.14 (Ubuntu) Vary: Accept-Encoding
Content-EncodinG. gzip Content-LengtH. 3729 X-Cnection: close Content-TypE. text/html

The LTM Specialist notices the OneConnect feature is working incorrectly.
Why is OneConnect functioning incorrectly?

A. Client must support HTTP/1.0.

B. Client must support HTTP keep-alive.

C. Server must support HTTP/0.9.
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D. Server must support HTTP keep-alive.

Correct Answer: D

QUESTION 5
A failover event is recorded in the following log messages:

Jan 01 00:56:56 BIG-IP notice mcpd[5318]: 01070727:5: Pool /Common/my-pool member /Common/10.0.0.10:80
monitor status down.

Jan 01 00:56:56 BIG-IP notice sod[5855]: 010c0045:5: Leaving active, group score 10 peer group score 20.
Jan 01 00:56:56 BIG-IP notice sod[5855]: 010c0052:5: Standby for traffic group /Common/traffic-group-1.
Jan 01 00:56:56 BIG-IP notice sod[5855]: 010c0018:5: Standby

Jan 01 00:57:06 BIG-IP notice logger: /usr/bin/tmipsecd --tmmcount 4 ==> /usr/bin/bigstart stop racoon
What is the cause of the failover?

A. The HA group score changed.

B. No traffic is seen on traffic-group-1.

C. The peer device left the traffic group.

D. The racoon service stopped responding.

Correct Answer: A
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